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(6x6x3.14)x2+ (6x2x3.14) x 13
= 226.08 + 489.84 = 715.92( cm?)
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@D 6x6x3.14x6 =678.24(cm?)
@ 4x4x3.14x 15 = 753.6( cm?)
@ TxTxT7=2343(cm?)
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[ Ix[ Jx6=216,] |x[ ]=36,] ]=6(cm)

whatA BuE 6 x 6x 6 = 216(cm?) GU T

® Y] §gtz] 0] 15.7+ 3.14 + 2 = 2.5(cm)

o|B g Hul:25x25x3.14%x 6 = 117.75(cm?) YU o}
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o002 452 1470, 352 1670, 252 1874t

T4 Z 1 201F)+16(3F)+12(55)+8(7F)

6, 8 10, 122 N Z4E BIIUT S 2744 ol

= 56(7H)

a0 18(2%)+14(4%)+10(6 %) +6(8%F)

= 48(7M)

oA, (E4F)-(B45)= 56 — 48 = 8(7§) Uitk
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3x[ ]=5x3000

[ ]=15000+3

[ ]= 5000

g2 =9 H=1:5

T Atgol £8o] & =& O std
1:5= (3000 -O) : (5000 - O)

1 (5000 — O) = 5 x (3000 - O)
5000 — O = 5 x 3000 — 5 X O

5x O —O = 15000 — 5000
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4 x O = 10000
O = 10000 + 4
O = 2500

webA] Folo] Jo 2&=2 5000 — 2500 = 2500( Y) JY T},
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@ 2m @)25m @ 3m < -2.3m
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(475_34_LX2'3X2> T(3Zx2+2.3x2>

(475 -3.75%2.3%x2) + (3.75x 2+ 2.3 X 2)
= (47.5-17.25) = (7.5 + 4.6)
=30.25 + 12.1 = 2.5(m)




